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Please read the following instructions before starting the exam.

1. You have 1 hour and 15 minutes to finish this exam.  Plan your time wisely.

2. The test consists of 15 multiple choice questions (worth a total of 97.5 points) and 3 problems (worth a total of 100 points).  The remaining 2.5 points are given.

3. You should have 9 numbered pages in your exam.

4. You are to complete the exam individually.

5. You may use pencils, pens, and a calculator to complete this exam.  All other items must be placed under your desk.

6. There is one blank page provided as extra space for your answers to the problems and a scantron for your answers to the multiple choice questions.  

7. Show all of your work for maximum partial credit.

8. In fairness to all students, I can not answer any questions during the exam.  

9. Do not begin the exam until you are instructed to do so.  

10. Good luck.

Multiple choice. (6.5 points each) (expected time: 25-30 minutes)

Please choose the BEST answer for each of the following.  Read each question carefully.

1.  Which of the following pairs of methods of accounts receivable financing are the least similar?

a. assignment of accounts receivable AND factoring of accounts receivable without recourse.

b. factoring of accounts receivable with recourse accounted for as a loan AND assignment of accounts receivable.

c. factoring of accounts receivable with recourse accounted for as a loan AND factoring of accounts receivable with recourse when the FAS125 criteria are not met.

d. factoring of accounts receivable without recourse AND factoring of accounts receivable with recourse accounted for as a sale.

e. both b and d are the least similar.

2. IWANTCASH Co. factored its accounts receivables with recourse and the transfer did not meet the criteria set forth in FAS125.  Which of the following statements is true regarding the financial statement effects of this transaction.

a. The debt/equity ratio is higher immediately after the transfer.

b. IWANTCASH Co. will recognize the cost of the transfer over the life of the loan as interest expense.

c. IWANTCASH Co. will remove its accounts receivable balance from its financial statements.

d. IWANTCASH Co. will bear no additional risk of bad debts for the factored accounts receivable. 

e. Both a and b are correct.

3. Which of the following is true regarding the "Accounts Receivable" approach for handling bad debts under the Allowance Method:

a. It is the only method allowed by generally accepted accounting principles.

b. It gives the best estimate of the net realizable value of the accounts receivable on the balance sheet.

c. It does not require estimates of uncollectible accounts.

d. It uses the existing balance in the allowance for doubtful accounts.

e. Both b and d are correct.

4. BarbCo sells golf balls to Pop's Shop under the terms 3/10 n/40.  These terms imply which of the following:

a. Pop receives a 3% discount if he pays after 10 days.

b. BarbCo expects the balance to be paid within 10 days or there is a 40% penalty.

c. BarbCo will accept 97% of the bill as payment in full if received within 10 days.

d. Pop receives a 10% discount if he pays within 10 days.

e. BarbCo will give Pop 3 days to pay 10% of his balance and the rest is due within 40 days.

5. In the bank reconciliation process, which of the following would cause the bank balance shown on the bank statement to be higher than the book balance?

a. Outstanding checks.

b. NSF checks from a customer, reported on the bank statement.

c. Service charges reported on the bank statement.

d. Deposits in transit.

e. Cash on hand at the company.

6. Which of the following procedures is not consistent with a good cash internal control system?

a. Carrying a balance in the checking account equal to one month's total cash disbursements to limit the risk of overdrawing the account.

b. Separating the responsibilities for cash-handling and cash-recording activities.

c. Timely deposit of cash received.

d. Periodic audits of cash accounts and bank reconciliations.

e. Separating the responsibilities of check preparation and check signing.

7. Which of the following is true regarding the petty cash fund?

a. Journal entries are recorded each time money is needed from the petty cash account.

b. After the initial entry is made to set up the petty cash account, the balance in the petty cash account stays constant until a decision is made to increase the fund or decrease the fund.

c. There is no need for internal controls if a petty cash fund is used.

d. The petty cash fund would most likely be used to pay suppliers for large inventory purchases.

e. At month end, the petty cash fund is cleared to zero.

8. Which of the following will occur if the interest rate is decreased?

a. The Present Value of an ordinary annuity will be decreased.

b. The Future Value of an ordinary annuity will be increased.

c. The Present Value of an ordinary annuity will be increased.

d. The Future Value of a single payment will not be affected.

e. The Present Value of a single payment will not be affected.

9.  You have decided that it will be necessary for you to get an MBA after you finish your bachelor's degree.  The school that you are considering will require a $40,000 tuition payment for the first year, due on the first day of class.  If you have $25,000 to invest and can earn 16% on an investment compounded quarterly, how long will it take to reach your $40,000 goal (within $20)?  The following were taken from the tables in your text:

Present value of lump (n=4,I=16) = .55229

Present value of lump (n=3,I=16) = .64066

Present value of lump (n=12,I=4) = .62460

Present value of lump (n=16,I=4) = .53391

a. much more than 4 years

b. 4 years

c. 3 years

d. much less than 3 years

e. there is not enough information to compute.

10. SRM Co. sold some specialized production equipment on January 1, 1999, and received a $10,000 down payment and a note that is payable in 4 equal annual installments of $3,306 each, starting December 31, 1999.   The equipment does not have a ready market value but similar type loans carry an interest rate of 10%.  

Time Value Factors you might need:


PV of 1 (n=4,I=10) factor = .68301


PV of ordinary annuity (n=4,I=10) factor = 3.16987


PV of annuity due (n=4,I=10) factor = 3.48685


FV of 1 (n=4,I=10) factor = 1.4641


FV of ordinary annuity (n=4,I=10) factor = 4.641


FV of annuity due (n=4,I=10) factor = 5.1051

       The entry to record the receipt of the first payment of $3,306 should include:

a. Debit to cash of $3,306, credit to notes receivable for $3,306.

b. Debit to cash of $3,306; credit to sales of $3,306.

c. Debit to cash of $3,306, credit to interest revenue of $1,048 and a credit to notes receivable for $2,258.

d. Debit to cash of $3,306, credit to interest revenue of $1,153 and a credit to notes receivable for $2,153.

e. Debit to cash of $3,306, credit to interest revenue of $1,534 and a credit to notes receivable for $1,772.

11. When the buyer has the right to return the goods within 90 days AND the seller has no prior experience on which to estimate returns, SFAS48 requires which of the following?

a. The seller must recognize revenue when the goods are shipped regardless of any returns.

b. The seller must defer the gross margin on the goods shipped until the "right of return" expires.

c. The cost of goods sold must be recognized when the goods are shipped.

d. The seller must record accounts receivable when the goods are shipped.

e. Both b and d are correct.

12. The basic rules of recognizing revenues, as discussed in class, require recognition when:

a. the earnings process is complete, all costs have been incurred or can be reasonably estimated, and collection is reasonably assured.

b. an order for a specific amount of merchandise has been received.

c. management decides it should be recognized.

d. the production process is complete and the goods are available for sale.

e. cash is received in payment for goods or services.

13. Which of following is the least conservative revenue recognition method?

a. Cost recovery method.

b. Completed contract.

c. Percentage-of-completion.

d. Double declining balance method.

e. Normal revenue at delivery sales method.

14. Given a three year project, the percentage-of-completion and completed contract methods of accounting for long-term construction contracts will result in:

a. the same amount of income in the final year.

b. the same expense in the first year of the project.

c. the same construction-in-process inventory balance throughout the project.

d. the same balance in Billings on Contracts throughout the project.

e. different amounts of income for the project in total, when the 3 years are added together.

15.  D&B developed a new product in late September of 1999.  In order to get retailers to stock this new product, D&B shipped the product out with a 6 month unconditional right of return.  D&B has no basis for estimating the actual returns.  The sales price of the total amount shipped was $250,000 and the cost of the products shipped was $190,000.  D&B has not yet received any payments.  At the end of 1999, the financial statements should show :

a. $250,000 in sales

b. $190,000 in cost of goods sold

c. $ 60,000 in realized gross margin

d. $ 60,000 in deferred gross margin

e. a,b, and d are all correct.

Problem 1 (30 points) (expected time:15 minutes)

FACTS:

· Aunt Hazel's Cookie Kitchen is in the business of selling cookie "care package" baskets to the parents of college students. Recently, Aunt Hazel experimented with some new recipes and came up with a vitamin-packed broccoli-spinach chip cookie.  The parents ordered $400,000 in cookies (16,000 orders @ $25 each) in early December because they naturally were concerned about the health of their children and Aunt Hazel has a great marketing team.  All $400,000 were credit sales.  Unfortunately, late in December, 1000 orders were returned to Aunt Hazel.  The students thought the cookies were disgusting!  At year-end, Aunt Hazel's best estimate is that 90% of the remaining broccoli -spinach chip orders will be returned.  (Aunt Hazel's best estimate is that none of her other cookie packages will be returned.)

· Aunt Hazel's uses the Accounts Receivable approach to estimate uncollectibles.  Based on past experience, Aunt Hazel's sets the single rate at 5%.

· The following balances were taken from the unadjusted trial balance at December 31, 1999:


Total Credit Sales


$5,000,000 credit balance


Accounts Receivable


$1,700,000 debit balance


Allowance for doubtful accounts

$20,000 credit balance


Allowance for sales returns

$0 balance

Required:

1) (5 points) Show the entry that would have been made when the 1000 cookie orders were returned in late December.  

2) (10 points) Also, show all adjusting entries necessary at year-end related to accounts receivable (in proper form).

3) (10 points) Show the proper balance sheet presentation of accounts receivable at year-end.

4) (5 points) Explain how the financial statements would be impacted if Aunt Hazel's estimates were way out of line.

Problem 2 (20 points) (expected time: 15 minutes)

You have been asked to prepare the bank reconciliation for the month of February 2000.  The following information is available to you.

Bank statement for February:

Beginning balance


$8,200

Detailed deposits



$25,000

Detailed checks cleared


$30,000

Bank service charges


$150

NSF checks



$120

Collection on loan (including

interest of $500)



$4,500

Ending balance at February 29

$7,430

General ledger information:

Balance in cash at February 29

$2,400

Deposits per the cash receipts journal
$27,000

Checks written per the cash disbursements

   register



$32,000

From last month's bank reconciliation you find the following:

   Deposits in transit


$1,500

   Outstanding checks


$2,300

Required:

1) (15 points)  Prepare the bank reconciliation, clearly showing the correct cash balance as part of your answer.

2) (5 points)  Prepare any journal entry required.

Problem 3 (50 points) (expected time 15-20 minutes)

· You have just started work as the controller for SomeBig Co., a construction company.  The 2000 fiscal year ended October 31, 2000 and your predecessor left a few things undone.  Most importantly, the company started a project constructing an office building for SCR Engineering during the year and there have been no year-end entries made to record any revenues or expenses associated with the project.  

· Your assistant, Sally, has summarized the entries made during fiscal 2000 for you as follows:

(1) 
Construction in process inventory


12,500,000



Cash






12,500,000

To record costs incurred on SCR building contract.

(2)
Accounts Receivable



12,200,000



Billings on Contract




12,200,000

To record progress billings on SCR building contract.

(3)
Cash





10,000,000



Accounts Receivable




10,000,000

To record collections on SCR building contract.

· Sally also has given you the information summarized below:

· Total contract price = $18,000,000

· Total original estimated costs = $17,400,000

· Revised total estimated costs as of October 24, 2000 = $19,000,000

· Start date:  February 1, 2000

· Estimated completion date:  February  1, 2001

Required:

1) (20 points)Write a brief memo to Sally, explaining to her (a, 14 pts) the difference between the two GAAP methods of revenue recognition available for this project and (b, 6 pts) what criteria you will use to determine which revenue recognition method is appropriate for the SCR Building project. 

2) (10 points) Illustrate the calculation of revenue recognized in 2000 under each revenue recognition method. 

3) (10 points) Calculate the net income (or loss) that will be recognized in fiscal year 2000 under each revenue recognition method.

4) (10 points) How much net income (or loss) will be recognized in fiscal year 2001 assuming no further changes in estimated costs?  In addition, explain in one sentence how conservatism affects the income statement in 2000 and 2001?    
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